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x = 0:pi/100:2*pi;
y = sin(x);
plot(x,y)

hold on
y2 = cos(x);
plot(x,y2,':')
legend('sin','cos')



% bu dosya plotting_ex.m olarak kaydedildi

% sonra y1 = 3*cos(2.*t) 
% y2 = 3*y1 + 2

t = -6*pi:pi/100:6*pi;
y1 = 3*cos(2.*t);
y2 = 3*y1 + 2;

figure (1)                                  
hold on
plot(t,y1,'k+','LineWidth',3)
plot(t,y2,'r:')
xlabel('t')
title( )           
legend('y1','y2')                         

grid on
hold off

y1_max = max(y1);
y2_max = max(y2);

disp( )
disp(num2str(y1_max))       

disp( )
disp(num2str(y2_max)) 
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g = 9:81 m/s2
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rho = (1 + sqt(5))/2
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JOHN O. ATTIA, ELECTRONICS and CIRCUIT ANALYSIS using MATLAB

% Voltage and power calculation
R=10; % Resistance value
i=(0:2:10); % Generate current values
v=i.*R; % array multiplication to obtain voltage
p=(i.^2)*R; % power calculation
sol=[i v p] % current, voltage and power values are printed
% the last diary command turns off the diary state

v(t) 10(1 e0.2t )

v(t)

A = [2 7 9 7; 3 1 5 6; 8 1 2 5] 







>> A = [4 5; 3 -2]

>> b = [6; 14]

>> x = A\b

x =

3.5652
-1.6522

>> A*x

ans =

6
14



**

>> A*x b

ans =

0
0



pinv = = > pseudoinverse (pseudo inverse) 

da









t = [0 .3 .8 1.1 1.6 2.3]';
y = [.82 .72 .63 .60 .55 .50]';
B = table(t,y)

4x1 + 5x2 = 6




